
5-1 [s2o1] SERVICE DATA
2. Body Datum Points

2 . Body Datum Points
1 . ENGINE COMPARTMENT AND ROOM

COUPE MODEL

G5M0643

0

0

D

13

Radiator panel (UPR) repair bolt hole MS (Right)

Radiator panel (UPR) repair bolt hole M8 (Left)

Fender attaching bolt hole M6 (Symmetrical)

Headlight attaching bolt hole M6 (Symmetrical)

Radiator panel side gauge hole 24 mm (0 .94 in) dia . (Symmetrical)

Front bumper mounting hole 14 x 17 mm (0 .55 x 0 .67 in) dia . (Symmetri-

cal)

Front crossmember attaching bolt hole 12 .4 mm (0 .488 in) dia . (Symmet-

rical)

Fender attaching bolt hole M6 (Symmetrical)

Front strut mounting hole 10 mm (0 .39 in) dia . (Symmetrical)

Hood hinge attaching bolt hale MS (Symmetrical)

Cowl panel mounting hole 5 mm (0 .20 in) dia .

(Located in center of vehicle .)

Front rail (Inner) mirror attaching bolt hole 8 mm (0 .31 in) dia .

Fender attaching bolt hole M6 (Symmetrical)

Front pillar gauge hole 20 mm (0.79 in) dia . (Symmetrical)

16 Retainer attaching square hole 7 mm (028 in) (Symmetrical)

~7 Sun visor attaching hole 20 mm (0 .79 in) dia . (Symmetrical)

~5 Spare fire attaching bolt hole M8

~6 Air draw hole 7 mm (0 .28 in) dia. (Symmetrical)

~0 Fender attaching bolt hole M6 (Symmetrical)

Front glass attaching hole

Right 6.5 mm (0 .256 in) dia .

Left 6 .5 x 10 mm (0 .256 x 0 .39 in) dia .

~9 Wax coat hole 20 mm (0 .79 in) dia . (Symmetrical)

~0 Door switch attaching hole 13 .5 mm (0 .531 in) dia . (Symmetrical)

~1 Retainer attaching square hole 8 mm (0.31 in) . (Symmetrical)

~2 Rear quarter glass attaching hole 8 mm (0 .31 in) dia. (Symmetrical)

O3 Rear quarter glass attaching hole 7 mm (0 .28 in) dia. (Symmetrical)

~4 Rear quarter glass attaching hole 8 x 5 .5 mm (0 .31 x 0 .217 in) dia .

(Symmetrical)

05 Retainer attaching square hole 8 mm (0.31 in) . (Symmetrical)

O6 Seat belt anchor attaching bolt hole 16 mm (0 .63 in) dia . (Symmetrical)

2



SERVICE DATA [s2o21 5-1
2. Body Datum Points

2. LUGGAGE COMPARTMENT AND ROOM (SEDAN
AND COUPE)

p : Master repair location

G5M0111

D
D

D
0
D
D

D

Rear pillar (Inner) gauge hole 8 mm (0.31 in) dia . (Sym-
metrical)
Rear roof trim attaching hole 8 mm (0.31 in) dia . (Sym-
metrical)
Rear quarter trim attaching hole 8 mm (0.31 in) dia . (Sym-
metrical)
Seat belt anchor attaching bolt hole (Symmetrical)
Reinforcement (Rear panel rear) repair locator (Located
in center of vehicle)
Rear corner patch at flange (Symmetrical)
Rear skirt (UPR) cutout (Repair locator)
Rear skirt gauge hole 20 mm (0.79 in) dia . (Symmetrical)
Rear combination light mounting hole 9 mm (0.35 in) dia .
(Symmetrical)
Rear quarter bumper side gauge hole 20 mm (0.79 in) dia .
(Left)

Rear quarter bumper side gauge hole 20 mm (0.79 in) dia .
(Right)
Instrument panel attaching square hole 22 x 34.5 mm
(0.87 x 1 .358 in) (Right)
Steering support beam attaching bolt hole M8 (Symmet-
rical)

as Front pillar (Inner) gauge hole 10 mm (0.39 in) dia . (Sym-
metrical)

41 Floor mat attaching clip hole 8 mm (0.31 in) dia . (Symmet-
rical)

~s Rear panel (Center) repair locator (Located in center of
vehicle .)
Rear glass attaching hole
(Right) : 6 .5 mm (0.256 in) dia .
(Left) : 6 .5 x 10 mm (0.256 x 0.39 in) dia .

3



5-1 [s2os1 SERVICE DATA
2 . Body Datum Points

5. DATUM POINT LOCATION

I m o ~- o \ ~ ,

~

/ ~`\~/
° ~ ° ~ o°,_-0 0c-~

Q

t ~~ ~yo \ ,.o
G5M0114 G5M0207

1 0\\o nJ

I oo
ro. O

V

O~ i C

nn
G5M0208 G5M0209

~n -

0 It

I I/~c I ~ ~
00

I ~ (~ I ._ C o

:, ~ .- o Q- - o ooo ~

` \\°

O
/ 0 l' ~

O

O
° -a o.

G5M0210 G5M0211

0
9 Ot ,

°o
7

` \ \--

i ~\
ro1 o ~ ~ o

G5M0212 G5M0213



SERVICE DATA [s2os] 5-1
2. Body Datum Points

~~~ o > > ~ ~ s
10

1 ~> / e
i

GSM0214 GSM0215

I~ ~ ` I` ~o, 13~ ,,i~ \I~

- 13<~ -
,z I ~~ ~o

GSM0216 GSM0217

I
I

I
o
p ° ~ o

I~I

~~ 14

L-7~
roe o .. n o

- -

° 15

G5M0218 G5M0219

`'/\

r
o

\ ~~ °
G5M0220 G5M0221



5-1 [s2os] SERVICE DATA
2. Body Datum Points

19 18

00

G5MO222 G5MO223

~rc~-D~

0

'o
G5MO224 G5MO225

G5MO226 G5MO227

J/
0

25 ~\ ~ ,l o , . o o /

J

G5M0228 G5M0229



SERVICE DATA [s2osi 5-1
2. Body Datum Points

~ °I'

Sedan

---
1

o
`-- -_~ If-- I i UL

0'0 8

G5M0230 G5M0231

°n
Sedan

r~,~J ~ ~\ ~ U ~ 3~
°>

31

c l
Inn

J ~c 0 i o

G5M0232 G5M0233

Sedan

\//

33
~r

\O .,

~ '~O O`'0 ` 1\

\\

`1 O O --~ ~

/\' ~o ~1

\\

~\O

\ O ~~ 1

n

G5M0234 G5M0235

34 I I I I I ~(/ /
J o

Sedan

I

--~

~>> ~

/ '

I ~ ~ ~) II ~_ `,--,

i~~ .~
.:I I I :0

- - -
1 I 1o r 35

' U , ' I- I,

G5M0236 G5M0237



5-1 [s2os1 SERVICE DATA
2. Body Datum Points

0 00

I -- l~
0

J '0 'g1 ,I tV' o~C°o~- ( ,~~ ~ ~�
O
-y ss L(\,

- .
~\

G5M0238 G5M0239

II',~1~10.~39
°I-

G5M0240 G5M0241

/l>~ o ~~\ - 1,~~ Wagon

42

41~' l /

/ I~. ~1 1 r.

G5M0242 G5M0243

o)
Wagon Wagon

/

L)

~\~
o

0

~~oll , J ° ~
44

r~~
°

, . X; 3

G5M0244 G5M0245



SERVICE DATA [s2osI 5-1
2 . Body Datum Points

Wagon
-- ! --~\

46 \

°- ~---

~ o~ ~l `° °io~ o ~ o

'o
45 \^

l ll '

G5M0246 G5M0247

Wagon \

, . y 47

Wagon
48

--
o(1- o

~~--

f

~ -~\ --

,I ~' I\\

o \ ~ \ ~ .
\ r-~ ~ ~~ ~

CU I I U II ~.` ~~

G5M0248 G5M0249

Wagon =°e~\\ ~' I

--- ~ ~
I
J, /a,L

\ ~\~J /

0
, 1 ' ~ \ \ \

50
1

G5M0250 G5M0251

I \\~ . .

{0 0, ~ ~

0 0

` o ,~o l~ > > 01 ~
52,E

o

G5M0252

o

G5M0253



5-1 [s2os] SERVICE DATA
2. Body Datum Points

\c " i o V

\ ~ f O\

O

~/(J

I ~'

--, -1 0 0

~--1A

`~\ ~
-/ ° -

G5M0254 G5M0255

° ° °
'J r

"J I I J r '' I \"

'I(~I\

I I ' `

---

., `'

o I~° ~; =~ -~ C2 C~, CD

\ V ` O ~_-
G5M0256 G5MO257

Oo

0

507

G5MO258 G5MO259

0

0
~

-0 cj
0 1

0 0

600

0

Ll U

G5MO260 G5MO261

10



SERVICE DATA [s2os1 5-1
2. Body Datum Points

Wagon ~

\\ \ /- ~ \ ~~ )l
\\V\1 = Q

° °

Wagon ~ \\=

( ,'1 to o
^ \ fi \\`

O~ \-;

'\O~ 1 J
G5M0262 G5M0263

Wagon r\~~~~i ' o

0 ~ I

: ~ ~ ~ I' I

,~ I I 1

\ \ 1 0-,

r

1 1 64~ o~_
\` \,~. -~_

o

--_ ~I~l i I~

G5M0264 G5M0265

Sedan ~\\

)

Sedan

(J~~ ~
65\ \~

ss / . .
0

G5M0266 G5M0267

Sedan

,- ~

61 0/

\8
I

.~.

G5M0268 G5M0269

11



5-1 [s2os1 SERVICE DATA
2. Body Datum Points

69

O 0

C

)))

G5M0644 G5M0645

G5M0646 G5M0647

4

O

o

I\\\~

G5M0648 G5M0649

\A

0

G5M0650

12


